7.2: (Addition and Subtraction Formulas)

If the function y = —3sin 2x — 3cos 2x is written in the form y =

ksin(2x + ), 0 < f < 2m, then the values of k and 8 are

(a)k=3V2,p ==

5m
(b)k=—65==
() k=3v2,p=2

8
3w
(dk=-68=="

7T

(e)k=3V2,8 ="

4

CSCXx secx

Therange of y =

A) [—V2, n\/i]



V3

csc(3x)

If the range of the function f(x) = 2 + cos(3x) + is [m, n]. then

m+n=
A) 8
B)3
g)o
D) 4
E)6

If the range of the function f(x) = 4sinx + 3cosx — 1is [m,n], thenm +
n=

(a) -2

(b) -3

(c) -6
(d) -1
(e)-4



The minimum value of the function y = 2 — +/3sin 2x + cos 2x is equal to

A)O
B) -1
Q)1
D) 2
E)-2

The expression ZSin;—C — 2\/§cos§ can be written as

A) 4sin (g — g)

B) 2+/3sin (g + g)
C) 4sin (x + %ﬂ)
D) 2sin (g + g)

E) 2sin (;—C - %n)



If cos (117:) = \/E:/B’ thena +b =

A) 4
B)5
)8
D) 7
E)6

If cos(x +y) = 1,and cos(x —y) = 1, then cosxcosy =
(a)1

(b) -1

(c) 2
(d)-2
(e)O



If the functiony = %sin G x) — \/Z—icos G x) + % is written in the form y =
ksin(bx +a) +c,thenk +b + ¢ =
A)7

B) 6

C)5

D)4

E)9

If the function y = —sin 2x — v/3cos 2x is written in the form y =
ksin(2x + a),0 < a < 2m, then the value of a is
41
A) N
2T
B) 5
51

C)?



If f(x) = —Zsm( ) + 2\/—cos( ) then the phase shift of the graph of

f(x) is equal to

3

If the range of the function f(x) = 3 + sin(2x) + sec(2x )

is [m, n] then

m+n=

A) 6
B) 3
C) 10
D) 4
E) 8



If the graph of y = —sin 2x + V/3cos 2x has a period P and amplitude A,

thenP - A =

A) 21

B)

N R

C)2
D)m
E)3m

If f(x) = sinmx + v/3cosmx is written as f(x)

range R and the period P of f(x) are

A)R =[-2,2]and P =2
BJR=(—-2,2)andP =nm
C)R=1[0,2]andP =2
=[0,2]and P =1
E)A=[-22]and P = =2

= ksin(bx + ¢), then the



The range of the function f(x) = sin 3x — %cos 3x—1is
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If the function y = 3sin x + 3v/3cos x is written as y = ksin(x + a), then
k+a=

A) 6+ =
3

B) 6 + 2=
3

C)3+Z
3

D)3\/§+2?”

E) 6v3 + =



If sin 40° + cos 40° = ksin 3, then

A k=+2,p =85
B) k = 2,8 = —45°
C)k =28 =40°

D)k =+2,8 = 80°

E)k =2, B =-80°

The graph of the function f(x) = —sinx — cos x, —

increasing on

57 7w
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1, 3 . .
Ify = =sinx — L, then it can be written as:
2 2secx

A) y = sin(x — 60°)
B) y = 2sin(x + 60°)
C) y = sin(x — 30°)
D) y = sin(x + 30°)
E) y = 2sin(x — 60°)

The minimum value of the function f(x) = —\/z—gsinx — %COSX is
A) -1
B) O
-2
2
1
D) —3
—/3-1




If f(x) = Zsing — 2\/§cos§ is written in the form Asin(Bx + C) where

A>0B> Oand—§< C < 0, then the graph of f has:

A) Amplitude 4, phase shift 7t units to the right.
B) Amplitude 2, phase shift g units to the right.
C) Amplitude 4, phase shift  units to the left.

D) Amplitude - 4, phase shift g units to the left.

E) Amplitude 2 + 2+/3, phase shift 7 units to the left.

If cos 55° — sin 55° = kcos 8, where k > 0and 0 < 8 < 180°, then
(@) k =2, 6 = 100°

(b) k =2, 8 = 100°

(c)k =+2, 8 =80°

(d) k=+2, 6 =70

(e) k =+/2, 6 = 120°



A)3 + 23
B)2 43
C)2+3V2
D) 2v/3
E) 3V2

The value of the expression sin 27°cos 57° — sin 63°cos 33° is equal to



) (117r>_
an 7 )=

A)/3 — 2

B)V3 -1

Q) V3-1

D)1—+/3
E)2—+/3

_ 1
sin [cos™! >+ tan~1(=3)| =

AL (V3 - 3)
B)ZEOO(\/?+3)
c)%(\/?—:s)
D)%(zﬁ—n
) 5y (3= V3)



(n + tan™?! 3)
— n —_— —_—
CcosS 4 a 1

If A is the amplitude and P is the period of the function y = cos 3xcos x —

sin 3xsin x, then T4 + 2P =

A) 21
B)O
C)4m
D)m
E) 3w



3m . @ . 3m  2m
coS c sm10 sin c sm5 =



3 5
i -1_ -1_) =
Sin (tan 4 + cos 13>

: 3 5 3
If sin a =§,——n< a < —m,and cosf§ = —g,n <p <7n,then cos(a +

2
p) =

A) 3Vs
3v5

11V5

1445



If tan a =§and tan f = —2, then cot(g—a+ﬁ) =

7
A) -2

1

B) —=

1
If cosa = =

B) =

0<a<§andcos,8= 377T<[?<27t,thentan(a—

1
V1o’



If cos (g — a) = %and secf = —g, where a is in quadrant I and 8 is in

quadrant Il, then cos(a + ) is equal to

If sin"1 x — sin™? (— g) = tan"1(-3), thenx =

3v10
10

9v10

10

A) —

B) —

10

9v10

10

C)

D)

E) 3v10



If tana = gand tanf = —2,thentan(a — f) =

) <3n+9>+ <3T[ 9)_
sin > cosS > =

A) —sin @ — cos 0
B) cos @ — sin @
C)sinf@ — cos @
D) —2sin 6

E) sinf + cos 6



tan 105° =

sin 70°sin 50° — sin 20°sin 40° =



NIE

. . o 4
If s and t are angles in standard position, with sins = o <s<mand

5 3 ) . .
cost = —05 7 <t< 7” then the terminal side of the angle s + t is in the

quadrant(s):

A) I
B) Il
C) IV
D)Iorll
E) Il or llI

o 5) - 55) -



1+tan 100°tan(—80°) .
tan 100°—tan(—80°)

The expression

A) undefined
B) equalto O
C) equal to -1
D) equalto 1
E) equal to —V/3

4 12
If cosa = —g,where§<a<nandcos(§—,8) = —E,wheren<,8 <

%n, then sin(a + ) is equal to



13m 2T
1-— tanTtan 9

13w 2T
tanT + tanv

INRE

B) cotll—n

Q) —cotZ
9

11m

E) V3

cos(255°) =
V2—/6

4

V62

(a)
(b)
(c)
(d)
(e)

4
V6+v2
4
V2-6

2
V2+/6

2




The exact value of 2-2%70)coU80) ;¢ equal to
tan(20°)+cot(80°)
(a) v3

(b) 2v/2




